DELHI PUBLIC SCHOOL

SAIL TOWNSHIP, RANCHI
ANNUAL EXAMINATION (2019-20)
Class:-IX Subject:- Social Science
Time- 3 Hrs. M.M.-80

General Instructions:

The question paper has 35 questions in all.
Marks are indicated against each question.

Questions from serial number 1 to20 are objective type questions. Each question carries 1 mark.
Answer them as instructed.

Questions from serial number 21 to 28 are 3 marks questions. Answer of these questions should not
exceed 80 words each.

Questions from serial number 29 to 34 are 5 marks questions. Answer of these questions should not
exceed 120 words each.

Question number 35 is a map question of 6 marks with two parts - 35 (a) from History (2 marks) and

35 (b) from Geography (4 marks).

Section - A Very Short Answer Questions

Match the following : [1]
Country The local name of Shifting Cultivation

(a) South-East Asia (i) Lading

(b) Central America (if) Chitemene

(c) Africa (iii) Milpa

(d) Sri Lanka (iv) Chena

“Two Treatises of Government” was written by: [1]

(a) Rousseau (b) Montesquieu

(c) John Locke (d) None of these

Study the picture and answer the question that follows: [1]

Which of the following option is true with respect to the above picture?

(a) Drying tendu leaves (b) Shifting cultivation

(c) Sowing (d) Taking out weeds
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10.

11.
12.
13.

Who was the ruler of Russia in 1914? [1]

Which one of the following state is not crossed by tropic of cancer.

(@) Tripura (b) Mizoram (c) Manipur (d) West Bengal [1]
Complete the following table with correct information regarding Thorn Forests and Scrubs. [1]
Thorn Forest Annual Rainfall Are Found Main Plant Species
and Scrubs Semi arid regions of
(A)-? Rajasthan, Gujarat, (B) -?
Haryana, Madhya
Pradesh, Uttar Pradesh
Why does Kerala have highest sex ratio? [1]
OR

What is the occupational structure of population in developed nation?
Correct the following statement and rewrite: [1]
Democracy leads to corruption for it is based on political competition.

Which of the following option best signifies this cartoon? [1]

—r1 . ‘:- _‘; ; l

AT IO AL
ST AL T IO

(a) Parliamentarians want to know about the bill which is going to be presented in next session
of parliament.
(b) Politicians want to know whether their name is in the list of the investigation agencies.
(c) Politicians want to know whether they would get a birth in Prime Minister’s council of ministers.

(d) Politicians want to know whether they are in the list of the party candidates in next election.

Fill in the blanks: [1]

was tried for treason by the white South African government.

OR

The was the umbrella organisation that led the struggle against the policies of
segregation.
How many seats Lok Dal won alone in 1987 Assembly election? [1]
How many families live in Palampur? [1]
Which capital would you consider the best? [1]
(a) Land (b) Labour
(c) Physical capital (d) Human capital
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14.

15.

16.

17.

18.

19.

20.

21.

Fill in the blanks: (1]

Prime Minister Rozgar Yojana was started in

Which district of Rajasthan is reported to have starvation death’s? [1]
(a) Kalahandi (b) Kashipur

(c) Baran (d) Palamu

Fill in the blanks: [1]
India adopted a new strategy in agriculture, which resulted in the especially in the

production of wheat and rice.

OR
Indira Gandhi released a special stamp entitled in July 1968.
Antyodaya Anna Yojana was launched in: [1]
(a) 2000 (b) 2002
(c) 2004 (d) 2006
What percent of Fair Price shops are run by cooperatives in Tamil Nadu? [1]
(@) 92% (b) 93% (c) 94% (d) 95%

In the question given below, there are two statements marked as Assertion (A) and Reason (R).
Read the statements and choose the correct option: [1]

Assertion (A):The government declares the Minimum Support Price every year before the sowing
season.

Reason (R):Minimum Support Price provide incentives to farmers for raising the production of these
crops.

Options:

(a) Both A and R are true, R is the correct explanation of A.

(b) Both A and R are true, but R is not the correct explanation of A.
(c) A is correct, but R is wrong.

(d) A is wrong, but R is correct.

Raghu lives in a slum in Kanpur. He has a wife and two children. He works as an agricultural
labour.He earns less than 1900 per month. However, with the help of a government scheme he
manages to get 13 kg of foodgrains at the rate of Rs 2 per kg wheat and Rs 3 per kg rice.

Analyse the information given above and identify which one of the following scheme has assisted

Raghu: [1]
(a) BPL Ration Card (b) APL Ration Card
(c) Antyodaya Card (d) Food for Work

Section - B Short Answer Questions

What do you know about Scientific Forestry? [3]
OR
Explain how the lives of the villagers affected by the Forest Acts?
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22.
23.

24.

25.

26.
27.
28.

29.

What were the views of Liberals about the transformation of society in the 18th century? [3]
Read the sources given below and answer the questions that follow: [1+1+1=3]
Source A: Support for Socialism

Workers in England and Germany began forming associations to fight for better living and working
conditions. They set up funds to help members in times of distress and demanded a reduction of
working hours and the right to vote. In Germany, these associations worked closely with the Social
Democratic Party(SPD) and helped it win parliamentary seats. By 1905, socialists and trade unionists
formed a Labour Party in Britain and a Socialist Party in France.

Source B: A turbulent Time: The 1905 Revolution

When four members of the Assembly of Russian workers, which had been formed in 1904,were
dismissed at the Putilov Iron Works, there was a call for industrial action. Over the next few days over
110,000 workers in St. Petersburg went on strike demanding a reduction in the working day to eight
hours, an increase in wages and improvement in working conditions. When the procession of workers
led by Father Gapon reached the Winter Palace it was attacked by the police and the Cossacks. Over
100 workers were killed and about 300 wounded. The incident was known as Bloody Sunday.

Source C: The February Revolution in Petrograd

Demonstrators returned in force to the streets of the left bank on the 26%.On the 27tthe Police
Headquarters were ransacked. The streets thronged with people raising slogans about bread, wages,
better hours and democracy. The government tried to control the situation and called out the cavalry
once again. However, the cavalry refused to fire on the demonstrators.

23.1. Do you agree that before the socialists, workers” problems were not addressed by any party?
23.2. What is the significance of this incident?
23.3. Why did the demonstrators choose the left bank to demonstrate against the government?

Which are the most widespread forests of India? Mention any two characteristics of these forests. [3]
OR

Suggest three measures that have been taken by the government to put an end to the indiscriminate
destruction of our flora and fauna.

Which three evils are tackled by Right against Exploitation? [3]
What are the provisions of Cultural and Educational Rights? [3]
Is it important to increase the area under irrigation? Why? [3]

What are the various activities undertaken in the primary sector, secondary sector and tertiary

sector? [3]

Section - C Long Answer Questions

In what ways did the Nazi state seek to establish total control over it’s people? [5]
OR
“The Treaty of Versailles was humiliating on the Germans.”Give reasons to support your answer.
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30.

31.

32.
33.

34.

35.

Which island group of India is located in south-west corner of it? Write any four features of these
islands. [1+4=5]
Read the extract and answer the questions that follows : [1+2+2=5]

The inflow of the south-west monsoon into India brings about a total change in the weather. Early in
the season , the windward side of the Western Ghats receives very heavy rainfall, more than 250cm.
The Deccan Plateau and parts of Madhya Pradesh also receive some amount of rain in spite of lying in
the rain shadow area. The maximum rainfall of this season is received in the north eastern part of
the country. Mawsynram in the southern ranges of the Khasi Hills receives the highest average rainfall
in the world. Rainfall in the Ganga Valley decreases from the east to west. Rajasthan and parts of Gujrat
get scanty rainfall.
31.1. Which branch of South West Monsoon accounts for rainfall along the windward side of

Western Ghats ?
31.2. Why does the rainfall decrease from the east to the west in Northern India?

31.3. Write two characteristics of the monsoon rainfall in India.

What are the challenges to free and fair elections in India? [5]
What powers rest with the Prime Minister of India? [5]
OR

State the powers of the President.
Discuss the major reasons for poverty in India. [5]
Map Skill Based Question

(a) Two places A and B have been marked on the given outline map of France. Identify them and

write their correct names on the lines drawn near them. [1x2=2]
(A) A port associated with slave trade.
(B) A place associated to French National Anthem.
(b) On the political outline map of India, locate and label any four of the following with
suitable symbols : [1X4=4]
(i) Bengaluru
(if) Manipur
(iif) ~ Wular Lake
(iv)  Corbett National Park
(
(

V) Bharatpur Bird Sanctuary
vi)  The state having lowest density of population.

FhrIRTEEL
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DELHI PUBLIC SCHOOL

SAIL TOWNSHIP, RANCHI
ANNUAL EXAMINATION (2019-20)
Class:-IX Subject:- English
Time- 3 Hrs. M.M.-80
General Instructions:-
1. This paper is divided into 3 sections: A,B, and C. All the sections are compulsory.

Separate instructions are given with each section and question, wherever necessary.
Read the instructions very carefully and follow them.

3. Do not exceed the prescribed word limit while answering the questions.
Section - A (Reading) [20]
Read the passage given below and answer the questions that follow: [8]

Children should be great bundles of energy- running around and getting into mischief and
driving the parents to distraction. But instead they are becoming couch potatoes, a lazy group
venturing outdoors only to get chips and sweets and spare batteries for their computer toy.

Studies show the younger generation is a lazy one. They get virtually no exercise, have poor diet

and spend leisure time in front of computer games or television. The old adage “it wasn't like that in
my day” is certainly true. Their grandparents would think nothing of walking several miles to school
and would consider a piece of fruit an after school luxury.

But only a few decades later children are wooed with bags of chips, sweets and other junk food. And
they don’t want to shop for these things ; they get them as gifts.

In a recent research of Suffolk School, children aged nine to thirteen revealed almost half of the girls
and one third of the boys were incapable of sustaining anything more taxing than walking for more
than a few minutes.

The shocking figures have promoted the first ever conference on children’s fitness in Britain. Exercise
experts met last month at the Internal Convention for Children’s Health Related Fitness in London to
find ways to coax kids off the couch and into a more healthier lifestyle.

Two prime causes of this are the television and the car. Latest figures show that the average child
spends upto 28 hours a week watching TV ,not to mention the time spent on computer games .But if
children’s lack of physical fitness is frightening, then their diets are an equal cause for concern. Once
again modern day conveniences have a lot to answer for.

Shopping research shows that instead of eating nourishing foods ,. Kids nag their parents into buying
them junk food . These habits have led them to one or more risk factors associated with heart disease.
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a) The present day children take no and watch a lot of television.

i) Food ii) interest iii) exercise

b) Studies show that the younger generation is one.
i) A lazy ii) an active. iii) none of these

c) The present day children are wooed with bags of chips sweets and other
i) Healthy food ii) junk food. iii) both of these

d) What have the present generation turned into ?

e) What has the recent research of Suffolk school revealed ?

f)  What has the shocking figures of recent research made the exercise expert in London do?
g) Mention two main reasons for the unhealthy state of present generation?

h) Food habits of the present generation of children are risky for the health. How?

Read the following passage carefully : [12]

1. After a long day out in the scorching sun at Nizamuddin railway station, having checked out every
bit of garbage disposed off from trains, a group of ragpickers gathered for a chat in a rain-swept
shelter. This was no regular gathering for them. It was a Mother's Day gathering.

2. Most children had never heard the word but grew emotional once they got to know what the day
signified. Gifts for their mothers ranged from promises of not running away, to earning enough to
assure their mothers of some comfort some day.

3. When it came to actual celebrations for the day, a group of boys at the centre run by Chetna, an
NGO, near the station, surrounded Manjula Rai. Some even pulled her hair and the rowdy ones calmed
down after a stern glance from her. For many boys and girls, this 47-year old social worker is a face
recognized as a help at hand. For quite a few of them, Manjula is the 'mother who influences them.

4. When they settled down to talk, the children at Chetna, related their aspirations with thoughtful
intent. Vikas Kumar, who felt shy to pronounce the word Mother's Day, said he was determined to
secure some day, quality life for his mother, who was a domestic worker. His promise to his mother on
Mother's Day was to take out his mother from a rented house and to give her a home with a better life,
some day.

5. Vikas left school when he was just nine, but is now a motivator for other boys who have left
ragpicking and who study through the Open School System. Today, Vikas, who is a Class VII student,
is the pride of the Centre and Manjula has been a part of his journey all through. She has been
convincing the parents of these children to understand their evolution from being a child labourer to a

teenager who can acquire skills for a better life.
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'Mom' and 'Dad' having watched T.V. serials and Hindi films. According to him : "l keep running away
from home and fight with my Mom. But on Mother's Day, when I go back, I will not fight and stay with
her." The traumatic life stories related by these children become a self-explanation for their aggressive
behaviour and their suppressed feelings.

(A) Answer the following questions in about 30-40 words : [2x4=8]

(a) What was special about the gathering at the rain-swept shelter?
(b) What were the ragpickers' reactions to Mother's Day ?
(c) How did the children celebrate the day at the Chetna premises ?
(d) Why is Vikas' case inspiring for the ragpickers ?
(B) Do as directed : [1x4=4]
(a) When one is out in the scorching sun, it means the day is
(i) cool (ii) rainy (iii) very hot (iv) very dry
(b) The ragpickers had understood about Mother's Day when Manjula told them what it
(i) signified  (ii) promised (iii) gifted (iv) created
(c) When one hankers for something better, it becomes
(i) an emotional moment (ii) a dream moment
(iii) an aspiration (iv) traumatic life story
(d) A term in the passage which means the same as 'compelling'
(i) convincing (i) scorching (iif) understanding  (iv) pronouncing

Section - B (Writing and Grammar) [30]

a) In most Indian families, particularly in rural areas, the girl child is considered inferior to the

male child. As a result of this bias, a daughter is considered a burden and she suffers

discrimination in the matter of food, freedom, health and education. Write an article in

100-150 words showing how such an attitude is harmful and unjust. You are Satyen/Sunidhi.

(Also give a suitable title. ) [8]

OR
b) Recently you got a chance to attend a workshop on “ Advantages and Disadvantages of technology
in our lives “. Write a diary entry in 100 to 150 words recounting your experience about the same and

how you feel that today’s tech savvy environment has become a necessary evil. You cannot do without
it, even if you think of doing without it and how it has created many problems for today's youth.  [8]
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suitable title. [10]
Alok was travelling by train. Suddenly the train stopped and some strange looking men entered

the compartmentand.......................

OR
b) Complete the following story in about 150 to 200 words with the help of the input given below.

Also give a suitable title. [10]
Merchant riding home from fair..... always negative thinking...... had earned lot of money...... sudden
rainfall......money got wet........ cursed God....... Attack by Robbers...... got fired at..... but due to wet
gunpowder it did not hit......... save life....... Thanked God for rain....... Realised whatever happens,
happens for good.

Fill in the blanks (any four )with correct form of the verb given in bracket . [1x4=4]
a) The jury (was/were) divided in their opinion.

b) Five kilometers (is/are) a long distance to walk.

¢) Neither the Guru nor his disciples (require/requires ) help.

d)The teachers along with the Principal (has/have)agreed to the proposal.

e)One third of the project (need/needs) to be reviewed again.

Read the dialogue given below and then complete the passage that follows: [1x4=4]

Electrician : when did your electricity go ?

Mohan : It is not working since yesterday.

Electrician : Sorry sir ,in this case I will have to check the fuse now.
Mohan : Please solve this problem.

The electrician asked Mohan a) . Mohan replied that

b) . The electrician apologetically said that c)

Mohan requested him d)

The following passage has not been edited. There is one error in each line. Write the incorrect word and
correction against each line. Attempt any four. [1x4=4]

Incorrect Correct

a) spending time in yourkids 0 L

b) bring immediate as wellaslong 0 L

) term gain with the parents. 0 L

d) According to a research, childrenofa .00 L

e) involved parent were more efficient L Ll
and get along better with their peers.

Section - C (Literature) [30]

Read the extract and answer the questions that follow: [1x4=4]



10.

11.

(@) No,
The root is to be pulled out-
Out of the anchoring earth;
It is to be roped, tied,
And pulled out-snapped out
Or pulled out entirely,
Questions :

i)What should we do to kill a tree entirely?
ii)What is the main anchor of the trees?
iif) Where does the strength of a tree lie?

iv)What should we do to its roots?
OR

b) Thanks a lot. You will soon stop being smart. I'll make you crawl. I want to know about few
p 8 Y
things, see.
(1) Who is the speaker of the above lines?
(if) How was the speaker's mood ?

(iii) ~ Why did he want to know a few things?
(iv)  Gerrard is threatening the intruder that he will make him crawl. ( True/false)

Answer the following questions in about 30 to 40 words. (Attempt any 3 out of 4 from Beehive and

any 2 out of 3 from Moments ) [2x5=10]

a) What message does the poem ' A slumber Did My Spirit Seal ' convey ?

b) Who were APJ] Abdul Kalam's childhood friends ? What did they do?

How did Olga help Lushkoff transform himself ?

What incidents during the Everest expedition show Santosh’s concern for her team mates ?

Innisfree is described as a simple ,natural place, full of beauty and peace. How does the poet

contrast it with where he actually was ?

) Who was Berhman ? What was his masterpiece ?

g) Why did Prashant oppose the government's proposal to set up institutions ?What did he
suggest ?Why?

cacs

-

Answer any one of the following questions in 100 to 150 words. [8]
a) “Animals also feel the pleasure of love and the pain of separation.” Explain this statement by giving
example from the chapter “The Bond of Love.”

OR
b) Compare and contrast the atmosphere in and around the Baudhnath shrine with that of the
Pashupatinath temple.

Answer any one of the following questions in 100 to 150 words. [8]
a) Write the character sketch of Iswaran.

OR

b)Why did Bill Bryson call himself an Accidental Tourist ? Give reasons to support your answer?
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DELHI PUBLIC SCHOOL

SAIL TOWNSHIP, RANCHI
ANNUAL EXAMINATION (2019-2020)
Class:-IX Subject:- Science
Time- 3 Hrs. M.M.-80

General Instructions:-

1. The question paper comprises three sections - A, B and C. Attempt all the sections.
2. All questions are compulsory.
3. Internal choice is given in each section.

4. All questions in Section A are one-mark questions comprising MCQ, VSA type and
assertion-reason type questions. They are to be answered in one word or in one sentence.

5. All questions in Section B are three-mark, short-answer type questions. These are to be answered
in about 50 - 60 words each.

6. All questions in Section C are five-mark, long-answer type questions.
These are to be answered in about 80 - 90 words each.
7. This question paper consists of a total of 30 questions.

Section -A
Why does the temperature of a substance remains constant during the change of state ? [1]
Which gas is called dry ice ? Why ? [1]

Honey is dense sweet liquid which contains 20 - 40% sugar, small amount of minerals, vitamins,
certain enzymes and pollen. It has medicinal value specially in problems related to digestion and live.
The quality of honey depends upon the pasturage or flowers available to the bees for nectar and pollen
collection. Since bee keeping needs low investments, farmers use it as an additional source of income.
An Italian bee variety Apis mellifera has been introduced in India to increase honey production.

3.1 What is the composition of honey? [1]
3.2 How is pasturage related to honey production? [1]
3.3 Which bee variety has increased the honey production in India? [1]
3.4 Mention any other advantage of bee keeping. [1]

Syndrome is a group of symptoms, sign physical and physiological disturbances that are due

to a common cause.

AIDS is also a complex of diseases and symptoms. It develops due to the failure of body to fight against
even minor infections, such as cold. HIV that causes AIDS damages immune systems of the patient. As
a result, even small cold leads to the development of pneumonia. A slight gut infection leads to severe
diarrhoea and blood loss, skin rashes develop into ulcers. Thus it leads to a group of symptoms.

4.1 What is a syndrome ? [1]
4.2 Name the pathogen that causes AIDS [1]
4.3 Is AIDS considered as a syndrome or a disease ? [1]
4.4 Mention two modes of spread of this disease. [1]
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5.

10.

11.

12.

Match the following with correct response:

Column A Column B
1. Velocity affects A. Energy
2. Maximum work done B. 90°
3. Work done is zero C.O°
4. Work done, when force act obliquely D. FS Cos 6
(@1-D 2-A 3-C 4-B [1]
(b)1-A 2-C 3-B 4-D
(©1-A 2-D 3-C 4-B
(d)y1-C 2-B 3-D 4-A

The heart does 1.5 ] of work in each heartbeat. How many times per minute does it beat if its

power is 2 watt? [1]
(a) 80 times (b) 60 times (c) 8 tomes (d) 10 times

OR
A machine does 192 of work in 24 sec. What is the power of the machine?
(@) 18 W (b) 4 W (c)OW (d)8W
Earthquake produces which kind of sound before the main shock wave begins: [1]
(a) Ultrasound (b) infrasound (c) audible sound (d) None of these
During summer , water kept in an earthen pot becomes cool because of the phenomenon of [1]
(a) diffusion (b)transpiration (c) osmosis (d) evaporation

OR

Which condition out of the following will increase the evaporation of water?
(a) Increase in temperature of water

(b) less exposed surface area of water

(c) Decrease in temperature of water

(d) Adding common salt to water

Choose the correct statement of the following;: [1]

(a) Conversion of solid into vapours without passing through the liquid state is called vaporization.
(b) Conversion of vapours into solid without passing through the liquid state is called deposition.
(c) Conversion of vapours into solid without passing through the liquid state is called freezing.

(d) Conversion of solid into liquid is called sublimation.

The size of the colloidal particles is in the range of [1]
(@) 1 A%to 100 A° (b) Inm to100nm () 109 m to 106 m (d) 10° cm to 107cm
Which of the following is not a compound ? [1]
(a) Sulphur dioxide (b) Chalk (c) Lead (d ) Sulphuric acid

The mass of one atom of carbon - 12 is [1]
(@1lg (b) 1.99 x 10-8¢g (01/12¢ (d)1.99 x10%¢g
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13.

14.

15.

16.

17.

18.

19.

OR
Which of the following contains maximum number of molecules?
(atomic mass of C=12u, O=16u, N=14u, H=1U)
(a) 1g CO (b) 1g N2 (c) 1g H> (d) 1g CH4

Directions:-The following questions No. 13. And 14 consist of two statements Assertion ( A ) and
Reason ( R) .Answer these questions selecting the appropriate option given below :

(a) Both A and R are true and R is the correct explanation of A
(b) Both A and R are true but R is not the correct explanation of A
(c) Aistrue but R is false

(d) A is false but R is true

(e) Both A and R are false

Assertion: ( A) The valency of aluminium is 3 and oxygen is 2. [1]

Reason: ( R) The chemical formula of aluminium oxide is Al;O;

Assertion: - During a thunderstorm, one observes lightning first and then hears the thunder though

both occur simultaneously.

Reason: Light travels faster than sound. [1]
Section - B

Calculate the mass of sodium sulphate required to prepare its 20 % ( mass percent ) solution in
100g of water. [3]

(a) What are isobars ? Give examples . [3]

(b) Atomic number of an element Y is 17
(1) Write its electronic configuration .
(ii) What is the number of valence electrons in Y ?
(iii ) How many electrons are needed to complete the octet of Y ?
(iv) Is it a metal or non- metal ?

OR

State the major drawback in Rutherfords model of an atom . Mention two features of Bohrs model
which helped in compensation of this drawback .

(a) How is carbon dioxide fixed ?

(b) How are the nitrogen molecules present in air converted into nitrates and nitrites. [2+1=3 ]

a) How are simple tissues different from complex tissues?

b) What happens to the plants if their tips are removed? [3]
OR

a) How are cork cells formed ? Mention one function of cork.

b) Which substance is present in the adipocytes? How does it help the living organism.

Give a scientific reason for the following,. [3]

a) Mitochondria can make their proteins.

b) Inner membrane of mitochondria is deeply folded.

C) Gametes have half the member of chromosomes than that present in the gamete mother cells.
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20.
21.

22.

23.

24.

25.

26.

Whales and fishes are not grouped together. Explain why? (Give three points). [3]

a) Draw labelled diagrams of three types of muscle fibers

b) How is movement caused in tissue [3]
Derive the following equations of motion (graphically): [3]
(@) v=u+at (b)s= ut+% at? (c) v? — u? = 2as

(a) State the second law of motion. Describe the mathematical formulation of second law of motion.
(b) A force acts on a body of mass 5 kg and changes its velocity form 8m/s to 12 m/s in 4 sec, then
find the magnitude of force. [3]
OR
(i) State and prove the law of conservation of linear momentum.

(ii) From a rifle of mass 4 kg, a bullet of mass 50 g is fired with an initial velocity of 35 m/s. Calculate
the initial velocity of the rifle.

(a) Write the statement of Newton’s law of Gravitation. Derive the formula of acceleration due to
gravity at the surface of the earth. [3]

(b) Two immiscible liquids of densities and 2
are put in a container. The height of each liquid
is h. A solid cylinder of length I and density d is
put in this container, the cylinder floats with its
vertical axis and length 0.5 [ in the denser liquid.

Estimate the value of d.
Section - C

(a) State six postulates of Daltons atomic theory. [3+2=5]
(b) How many grams of sodium will have the same number of atoms as 6 grams of magnesium.
(Atomic mass of Na= 23 u, Mg = 24u)

OR
(a) Define polyatomic ions . Give an example .
(b ) State the law of constant proportions.
(c) Calcium chloride when dissolved in water dissociates into ions according to the following equation
CaCly( aq )----------- —Ca2 + 2Cl- (aq)

Calculate the number of ions obtained from CaCl, when 222 g of it is dissolved in water.
(atomic mass of Ca = 40u ,Cl = 35.5u)

(a) Give reasons :

(i) Isotopes of an element are chemically similar .
(if) An atom is electrically neutral .
(iii ) Noble gases show least reactivity .
(iv ) Ions are more stable than atoms .
Pg-4of 5



27.

28.

29.

30.

(b) The element Boron occurs in nature as two isotopes having atomic masses 10 u and 11 u .
What are the percentage abundances of these isotopes in a sample of boron having average
atomic mass of 10.8 u . [2+ 3=5]

(i) Name two air - borne diseases. How does the disease causing microbes spread through air?
(if) How is symptom based treatment different from microbe based treatment (Three points)  [5]

Name the five classes of vertebrates and compare them on the basis of

a) Habitat b) Covering of skin  c) Respiratory organs  d) Chambers of heart [5]

OR
State the reasons for each of the following

a) Echidna and platypus lay eggs, but are considered as mammals.
b) Crocodiles have four chambered heart but are still reptiles.

c) Forelimbs of birds are modified.

d) Prawns are placed in Phylum Arthropoda.

(a) State and prove the law of conservation of energy. [5]
(b) A battery lights a bulb. Describe the energy changes involved in the process.
(c) Establish the relation b/w kinetic energy and linear momentum.
(d) Calculate the electricity bill amount for a month of April, if 4 bulbs of 40 watt each for 5 hour,
4 tube lights of 60 watt each for 5 hour , a washing machine of 400 watt for 3 hour are used
per day. The cost per unit is Rs. 8.

(a) Draw a labelled diagram of reflection of sound and discuss the function of its parts and their
working.

(b) A person produced a sound with a siren near a cliff and heard echoes after 6 second. Find the
distance of the siren from the cliff, if velocity of sound waves produced is 330 ms~1?

(c) How cracks or flaws can be detected in a metal forgins? Explain. [5]
OR
(i) Define the following terms:
(a) Wavelength (b) Amplitude (c) Frequency
(if) Why sound board is fitted on the back of the stage in a big Hall?
(iii) A stone is dropped from the top of tower 500 m high into a pond of water at the base of the tower.
When is the splash head at the top?
Given g=10m/s? and speed of sound = 340 m/s.

e e e e
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DELHI PUBLIC SCHOOL

SAIL TOWNSHIP, RANCHI
ANNUAL EXAMINATION (2019-2020)
Class:-IX Subject:- French
Time- 3 Hrs. M.M.-80
SECTION A - COMPREHENSION ECRITE [10]
LES REPAS FRANCAIS

Les repas principaux the francais sont le petit dejuner et le diner. On prend le petit dejuner a 7 heures ou 8
heures du matin. On prend du pain ou des tartines avec de la confiture ou du beurre et on boit du the.les
jeunes(18-24 ans) mangent des fruits et des cereales et boivant du lait et du jus de fruits.on dejeune a une
heures ou deux heures de l'apres- midi. La plupart des travailleurs dejeunent au restaurant ou a la cantine
'entreprise. Les repas a la cantine sont meilleurs marches que ceux au restaurant. On prend le repas complet
avec de la salade. Presque tout les francais dinent a 8 heures du soir. Le soir, les francais mangent plus
legeremet qu’a midi. Au menu il mange de la soupe t du fromage. Les adultes boivent souvent du vin aux
repas.

1. Repondez aux questions suivants: 2
a) Qu’est-ce que les francais mangent le soir?
b) Qu’est-ce que les francais prennent le matin?

2. Dites vrai ou faux: 4)

a) Le soir on prend le repas complet.
b) Lerepas a la cantine n’est pas cher.

c) Lesjeunes mangent des fruits et boivant du lait le matin

d) Le soir, les francais mangent plus legerement qu’a midi.
3. Trouvez dans le texte: )
a) Le contraire de <donner>
b) Le contraire de < toujours>
¢) Le contraire de < moin>
d) Le contraire de < soir>
4. Cochez la bonne reponse. ()
a) A 8 heures du matin on prend
(i) Le diner
(ii) Le gouter
(iii) Le petit dejuner
b) <Francais> c’est quoi?
(i) Unrestaurant
(if) Une nationalite

(iif) Une heure

SECTION B - EXPRESSION ECRITE [20]

1. Ecrivez une lettre a votre ami en decrivant une fete indienne.
2. Vous arrivez en retard chez vous. Ecrivez un message et informant votre mere.
3. Ecrivez une recette indienne/ francais de votre choix.
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SECTION C- GRAMMAIRE [30]

1. Completez avec les adjectifs demonstratives( ce/cet/cette/ces) 3)

oY)
~

professeur est nouveau.
etudiant est chilien.

=

Nous habitons a cote de gare.

(@)
~

restaurant?

£

Preferez- vous
Il achete livre.
Tu regarde robe.

N INCH

2.  Mettez les verbs aux temps cxonvenables:
a) Sironald
b) Situn”as pas de stylo,
c) Sielle avait de I’argent, elle

(2%2)

(voyager) a paris, il pourra visiter le louvre.
(prendre ) ca.
(faire) le tour du monde.

d) Sije (recevoir) ta lettre, je te repondrai tout de suite.

e) Situm’
3. Completez le texte au passé compose.
L’apres-midi, nous

( apprendre) l'histoire de la soie dans la maiso de canuts. Le soir nous
rendre) des tickets pour le theatre, je n’ rien
p p J

car le texte etaits en ancient francais. Nous

(appeler), je viendrai chez toi.

)

(monter) a la basilique notre- dame de fouriere et nous

(etre) fatigue de notre langue journee. Le lendemain, nous

(rentrer), mon mari

nos enfant qui

le ménage dans la maison et ma fille

(etre) un bon week-end meme si je

4. Mettez les phrases au negative (ni___ ni/ ne
plus)
a) Il yaencore du beurre sur la table.
b) IIs connaissent mes parents.
c) J'ai déja pris mon petit dejuner.
d) Nous prenons souvent des escargots.
e) J'aiun livre et un roman.

5. Completez avec plus que/ aussi que/moins que.

(conduire) tout le voyage. Nous

(vivre) seuls tout le week-end, en plus ils

(aller) a son cours de tennis. C’
(avoir) mal aux pieds.

jamis/ ne pas encore/ne ___pas/ ne____

®)

a) Christophe est (+) age son frere alain.

b) Ces filles sont (+) belles leurs soeurs.
c) Alainest (-) independent son grand-frere.
d) Ils sont (=) gentils les autres.

e) Ilest(+) mechant son ami.
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(comprendre)

(retourner) a l'hotel, nous

( pouvoir) retrouver

(faire) tout



6. Mettez les verbs au passé recent.

a) Elle revise ce qu’elle apprendre)

b) Ells ( se promener), il ya cinq minutes.
c) Elle (se lever) le matin a l'eau froide.
d) Vous (finir) le repas.

e Il (prendre) du lait chaud.

7. Remplacez les mots soulignes par le/la/1"/les.
a) Il soir, on recoit les amis.
b) On passé le weekend a la champagne?
c) Nous Faison les courses avant de partir.
d) Je conduis la voiture.
e) Lafemme invite sa voisine au dejeuner.
SECTION D - CULTURE ET CIVILISATION

1. Repondez:
a) Quelle est la monnaie unique europeene en france.

b

Qu’achete-t-on a la cremerie?

(@)
~

Que peut-on acheter a la papeterie?

2

Nommez quelques legumes et fruits.
Nommez des dessert francais.

Na>INCS

Quelle est votre dessert favori?

~

Quells sont les repas francais?

= 5 @
N—"

Nommez quelques fetes francaises.
Nommez quel ques fetes indiennes.
i) Quelle est ta fete prefere? Pourquoi?
2. Dites vrai ou faux.
a) La monnaie unique europeene de la france est roupies.

b) La recette de couscous est un plat nord- African.

c) LaSuisse et la belgique sont les pays francophones.

d) Celine dion est une chanteuse francophone.
e) Le francais est la langue officielle a Pondicherry.

3. Repondez cette question:
a) Nommez les parfums francais.
b) Quell vetement portez- vous a I’ecole?
c) A quelle heure prenez vous le diner?
d) Est-ce que tu aide ta mere en cuisinant.

e) As-tu indien?

5. Repondez cette question:
(a) Que prefere vous comme boisson?

b) Quell vetement portez- vous a I'ecole?
c) A quelle heure prenez vous le diner?
d) Est-ce que tu aide ta mere en cuisinant.
e) Que prefere vous comme boisson?
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DELHI PUBLIC SCHOOL

SAIL TOWNSHIP, RANCHI
ANNUAL EXAMINATION (2019-2020)

Class:-IX Subject:- Mathematics
Time- 3 Hrs. M.M.-80

General Instructions:-

1. All questions are compulsory.

2. The question paper consists of 40 questions divided into four sections A,B,C and D.

3. Section A comprises of 20 questions of one mark each. Section B comprises of 6 questions of two
marks each. Section C comprises of 8 questions of three marks each. Section D comprises of 6
questions of four marks each.

4. There is no overall choice. However, an internal choices have been provided in two questions of one
mark each. Two questions of two marks each, three questions of three marks each and three
questions of four marks each. You have to attempt only one of the alternatives in all such questions.

5. Use of calculator is strictly prohibited.

SECTION - A

1
If x~2 = 64, then x3 + x° is equal to

a.2 b.3 C.

N W
.Q..
wN

If a — b = 8and ab = —12, then a® — b3 is equal to
a.-244 b. -240 c.-224 d. none of these

The square and an equilateral triangle have equal perimeters. If the diagonals of the square is 12v2 cm,
then area of the triangle is

a. 24+/2cm? b. 24+/3cm? c. 64+/3cm? d. None of these
If an angle is 16° more than its complement, then the angle is

a. 43° b. 63° c. 539 d. None of these
In which quadrant or axis (-1, 0) lies

a. X axis b. Y axis c. Ist Quadrantd. None of these

The probability of sure event is

a.0 b.1 c.>1 d. <1
In APQR, if 2P = 100°, PM bisects 2P and PM L QR, then 2Q is
a. 30° b. 50° c. 40° d. None of these

If the radius of a cylinder is doubled and height is halved, then curved surface area will be

a. halved b. doubled C. same d. 4 times

In a quadrilateral ABCD, £A + £C is 2 times £B + £D. If £A = 140° and 2D = 60°, then £B is equal to
a. 60° b. 80° c. 120° d. none of these
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10.

11.
12.
13.
14.
15.

16.
17.

18.
19.
20.

21.

22.

23.

In AABC, D is the midpoint of AB and P is any point on BC. If CQ || PD meets AB in Q, then ar (ABPQ)
is.

a. %ar(AABC) b. %ar(AABC) c. %ar(AABC) d. None of these
Direction : (Question 11 - 15) fill in the blanks

A point common to three or more lines is known as

If the arithmetic mean of 7, 5, 13, x and 9 is 10 then x is

If (k — 2,k + 1) is a solution of the equation 2x+3y=4 then k is
The area of the triangle formed by the point O(0,0), A(3,0) and B (0,6) is (in sq unit)
The mean of upper limit and lower limit of a class interval is known as

OR
In inclusive method, the upper limit of a class is in that class.

Direction: Question 16 to 20 (Answer the following)
The angles £A: £B: £C of a triangle ABC are in the ratio 1:2:3. Find the largest side of the triangle .

Find the area of the figure obtained by joining the midpoints of the adjacent sides of a rectangle of sides
8cm and 6cm.

The length of rectangular field is thrice its breadth. If perimeter of rectangle is 80cm . Find its breadth.
Two coins are tossed simultaneously. Find the probability of getting atmost one head.

Two circles of radii 4cm and 3cm intersect at two points and the distance between their centres is 5cm.
Find the length of the common chord.

OR
In the given figure if £ ABM = 40° then find £ MNB, where O is the centre of the circle.
M
; ﬂ% g
~
SECTION - B
Ifx+-=7 findx® +
X X
OR

If a + b = 10,a? + b? = 58, find the value of a® + b3
One card is drawn from a well shuffled deck of 52 cards. Find the probability of drawing.
i ‘2" of spades ii. ‘10" of black suit

In the given figure ‘C’ is the midpoint of the segment AB. P and Q are midpoints of the segments AC
and BC respectively. Prove that: AP = BQ = %AB

State the Euclid axiom used.

A P C Q B
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24.

25.
26.

27.

28.
29.

30.

31.

32.

In AABC, AD is the median through A and E is the midpoint of AD. BE produced meets ACin F.

Prove that: — AF = %AC

OR
D, E and F are midpoint of sides BC, CA and AB respectively in an equilateral triangle ABC.
Prove that DEF is also an equilateral triangle. (with the help of ruler and compass)
Construct 105° and bisect it.

Plot the points A(0,4)B(—3,0), C(0,—4),D(3,0) and find the area of the figure obtained.

SECTION - C
If x = \/_—VZEZ:/_ VZ:Zandq # 0, then find qx? — px + q
OR
V52 V5+/2 .
If x = N and y = \/E:/E the find the value of x2 + xy + y?

Factorise a3 + b3 + ¢3 — 3abc

Prove that the angle formed by the bisector of interior A and the bisector of an extrerior 2B of a
triangle ABC is half of 2C.

Prove that the perimeter of a triangle is greater than the sum of its three medians.
OR

ABC is a triangle in which 2B = 2 £C. D is a point on BC such that AD bisects ZBAC and AB = CD
prove that ZBAC = 72°

In the figure ABC and BDE are two equilateral triangles such that D is the midpoint of BC. If AE
intersects BC at F show that

A
i. ar (ABDE) = ; ar(AABC)
ii. ar(ABDE) = %ar(ABAE)
1
.ar(AFED) = -=ar(AAFC F
iii. ar( ) 5 ar( ) r c
OR

In a quadrilateral ABCD, diagonals AC and BD intersect each other at ‘O’ such that OB=0OD if AB=CD,
then show that

i.ar(DOC) = ar(AOB)

ii. ar(DCB) = ar(ACB)

iii. DA || CB

Draw the graph of equation 3x + y = 6, also find the points when the line intersects X-axis and Y-axis.
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33.

34.

35.

36.
37.
38.

39.

40.

If mean of the following data is 50. Find ‘b” and frequency of 30 and 70

X 10 30 50 70 90

f 17 5b+3 32 7b-11 19

Let, P be any point on the circumcircle of AABC and perpendiculars PL, PM and PN are drawn on the
lines through line segments BC, CA and AB respectively. Show that the points L, M and N are
collinear.

SECTION - D

An inverted cone of vertical height 12cm and radius of base 9cm contains water to a depth of 4cm. Find
the area of the interior surface of the cone not in contact with water (nearest to 2 decimal place)

OR

A solid toy is in the form of right circular cylinder with hemispherical shape at one end and a cone at
the other end. Their common diameter is 4.2 cm and the height of the cylindrical and conical portions
are 12cm and 7cm respectively. Find the volume of the solid toy. (Correct to 2 decimal place)

Construct a triangle PQR in which QR = 6 cm, £Q = 60° and PR — PQ = 2c¢m. Write its steps.
State and prove midpoint theorem.

Draw a histogram and frequency polygon from the following data

Marks 10-15 15-20 20-25 25-30 30-40 40-60 60-90
No. of 7 9 8 5 12 12 24
students

XY is a line parallel to side BC of triangle ABC. If BE || AC and CF || AB meet XY at E and F
respectively show that ar(ABE)=ar(ACF)

From a point in the interior of an equilateral triangle, perpendiculars are drawn on the three sides. The
lengths of the perpendicular are 14cm, 10cm and 6cm find the area of the triang]e.

OR

A kite in the shape of a square with a diagonal 32cm and an isosceles triangle of base 8cm and sides
6cm each is to be made of three different shades as shown in figure. How much paper of each shade
has been used in it.

32cm

EE e
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